CITYWIDE MEDIAN PLANTING - 2012 ACCOUNT NO. CS53-54303-810377-00-53W1387 CONTRACT NO. 6846

BID OPENING: MARCH 30, 2012

## MADISON COMMERCIAL LANDSCAPES

ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS						
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$400.00	\$400.00		\$0.00		\$0.00		\$0.00
10911	MOBILIZATION	1.00	LUMP SUM	\$400.00	\$400.00		\$0.00		\$0.00		\$0.00
90001	ANTHONY WATERER SPIREA	255.00	EACH	\$9.00	\$2,295.00		\$0.00		\$0.00		\$0.00
90002	KNOCKOUT ROSE	556.00	EACH	\$17.00	\$9,452.00		\$0.00		\$0.00		\$0.00
90003	SIX HILLS GIANT CATMINT	205.00	EACH	\$7.00	\$1,435.00		\$0.00		\$0.00		\$0.00
90004	BLUE WONDER CATMINT	672.00	EACH	\$6.00	\$4,032.00		\$0.00		\$0.00		\$0.00
90005	ANNABELLE HYDRANGES	6.00	EACH	\$13.00	\$78.00		\$0.00		\$0.00		\$0.00
90006	ALERT NEW YORK ASTER	104.00	EACH	\$7.00	\$728.00		\$0.00		\$0.00		\$0.00
90007	DWARF BUSH HONEYSUCKLE	28.00	EACH	\$19.00	\$532.00		\$0.00		\$0.00		\$0.00
90008	PURPLE DOME ASTER	196.00	EACH	\$6.00	\$1,176.00		\$0.00		\$0.00		\$0.00
90009	TRUMPET CREEPER	8.00	EACH	\$10.00	\$80.00		\$0.00		\$0.00		\$0.00
90010	COMMON SNOWBERRY	32.00	EACH	\$10.00	\$320.00		\$0.00		\$0.00		\$0.00
90011	MISS KIM LILAC	5.00	EACH	\$15.00	\$75.00		\$0.00		\$0.00		\$0.00
90012	CHICAGO APACHE DAYLILIES	107.00	EACH	\$6.00	\$642.00		\$0.00		\$0.00		\$0.00
90013	STELLA d' ORE DAYLILIES	201.00	EACH	\$6.00	\$1,206.00		\$0.00		\$0.00		\$0.00
90014	SUMMER WINE DAYLILIES	155.00	EACH	\$7.00	\$1,085.00		\$0.00		\$0.00		\$0.00
90015	JOAN SENIOR DAYLILIES	77.00	EACH	\$8.00	\$616.00		\$0.00		\$0.00		\$0.00
90016	WINTERBERRY DAYLILIES	27.00	EACH	\$10.00	\$270.00		\$0.00		\$0.00		\$0.00
90017	LIMEFROST DAYLILIES	32.00	EACH	\$10.00	\$320.00		\$0.00		\$0.00		\$0.00
90018	AUTUMN JOY SEDUM	181.00	EACH	\$6.00	\$1,086.00		\$0.00		\$0.00		\$0.00
90019	PURPLE CONEFLOWER	76.00	EACH	\$6.00	\$456.00		\$0.00		\$0.00		\$0.00
90020	ALBUM GERANIUM	20.00	EACH	\$7.00	\$140.00		\$0.00		\$0.00		\$0.00

CITYWIDE MEDIAN PLANTING - 2012 ACCOUNT NO. CS53-54303-810377-00-53W1387 CONTRACT NO. 6846

BID OPENING: MARCH 30, 2012

## MADISON COMMERCIAL LANDSCAPES

ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS						
90021	GOOSENECK LOOSESTRIFE	10.00	EACH	\$7.00	\$70.00		\$0.00		\$0.00		\$0.00
90022	NATIVE YARROW	16.00	EACH	\$7.00	\$112.00		\$0.00		\$0.00		\$0.00
90023	BUTTERFLY WEED	32.00	EACH	\$7.00	\$224.00		\$0.00		\$0.00		\$0.00
90024	SILKY ASTER	54.00	EACH	\$6.00	\$324.00		\$0.00		\$0.00		\$0.00
90025	RATTLESNAKE MASTER	16.00	EACH	\$6.00	\$96.00		\$0.00		\$0.00		\$0.00
90026	WESTERN SUNFLOWER	104.00	EACH	\$6.00	\$624.00		\$0.00		\$0.00		\$0.00
90027	PALELEAF WOODLAND SUNFLOWER	16.00	EACH	\$6.00	\$96.00		\$0.00		\$0.00		\$0.00
90028	OLD FIELD GOLDENROD	16.00	EACH	\$6.00	\$96.00		\$0.00		\$0.00		\$0.00
90029	LITTLE BLUE STEM GRASS	72.00	EACH	\$7.00	\$504.00		\$0.00		\$0.00		\$0.00
90030	KARL FOERESTER REED GRASS	10.00	EACH	\$7.00	\$70.00		\$0.00		\$0.00		\$0.00
90031	BLUE FESCUE	122.00	EACH	\$6.00	\$732.00		\$0.00		\$0.00		\$0.00
90032	BLACK- EYED SUSAN	32.00	EACH	\$6.00	\$192.00		\$0.00		\$0.00		\$0.00
90033	LABOR COST TO INSTALL PLANT MATERIALS	1.00	LUMP SUM	\$12,385.00	\$12,385.00		\$0.00		\$0.00		\$0.00
90034	COST TO INSTALL PLANT MAKERS	1.00	LUMP SUM	\$400.00	\$400.00		\$0.00		\$0.00		\$0.00
90035	COST TO WATER PLANT MATERIALS	7.00	EACH	\$750.00 =	\$5,250.00		\$0.00	=========	\$0.00	========	\$0.00
CONTRACT TOTALS					\$47,999.00	\$0.00		\$0.00		\$0.00	I

UNIT PRICE	CONTRACT	UNIT PRICE	CONTRACT	UNIT PRICE	CONTRACT	UNIT PRICE	CONTRACT	UNIT PRICE	CONTRACT
BID	DOLLARS	BID	DOLLARS	BID	DOLLARS	BID	DOLLARS	BID	DOLLARS
	\$0.00	\$0.00		\$0.00			\$0.00	\$0.00	
	\$0.00		\$0.00		\$0.00 \$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00

UNIT PRICE BID	CONTRACT DOLLARS								
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	\$0.00 =		\$0.00		\$0.00		\$0.00		\$0.00
\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	